
INSTRUCTIONS
LENGTH ADJUSTMENT
To adjust the length of your Scott Release with a Nylon 
Connector Strap (NCS), loosen both of the #4-40 socket head 
cap screws (1:A) which attach the lock-down clamp to the 
bracket sewn into the release strap using a 3/32” hex tool. 
Move the nylon connector strap to the desired length and 
retighten both screws.

TRAVEL ADJUSTMENT
To adjust the travel of your Scott Release, adjust the #4-40 
set screw (1:B) in the body of the release. Adjust the screw  
in turn increments. Test the travel after each adjustment.  
TO INCREASE TRAVEL, turn the screw counter clockwise.  
TO DECREASE TRAVEL, turn the screw clockwise.

ADJUSTING FINGER EXTENSIONS
To adjust the sweep angle of the finger extension on your  
Scott Release, first loosen the 2 #4-40 socket head screws 
(2:A) that connect the finger extension to the trigger.  
Move to the desired position and re-tighten the screws.

1:A

1:B

2:B

3:A

3:B

WARRANTY SERVICES:
IMPORTANT: In the unlikely event that you require service on your product, please contact 
Customer Service at 1 (877) 503-5483. If necessary, our Customer Service Agents will 
provide you with a Return Merchandise Authorization (RMA) number and instructions on how 
to ship the product(s) back. It’s important that you contact a Customer Service Agent before 
returning any item. Please be sure to include your RMA number when returning an item, so 
that we can identify the return as yours. Without the RMA, we will not be able to process your 
return, and your item will not be returned to you.

PATENT INFORMATION: 
This product maybe covered by one or more patents. A complete list of 
Scott Archery patents can be found by visiting scottarchery.com/pages/patents

CHANGING SEARS
To change sears in your Scott Release, first remove the  
#4-40 button head screw (2:B) from the side of the body 
using a 1/16” hex tool. Next, press the 3/32” dowel pin (2:C) 
out of the body using the 1/16” hex tool. The trigger will now 
come out of the body; be careful not to lose the spring (3:A) 
that is wedged between the body and trigger.

Remove the (2) #2-56 socket head screws (3:B) that attach 
the sear to the trigger using a 5/64” hex tool. Remove the 
sear and install the sear you choose to use. Reinstall the  
#2-56 socket head screws and reinstall the trigger into the 
body by placing the spring in the spring pocket on the trigger. 
Insert the trigger into the body and reinstall the 3/32” dowel 
pin (2:C) and #4-40 button head screw (2:B).  
Note: make sure that you don’t bind up the spring (3:A)  
when installing the trigger to the body.

2:C

2:A

VERGE_insertcard.indd   3VERGE_insertcard.indd   3 1/31/22   9:11 AM1/31/22   9:11 AM




